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In designing strategy, a company must match the opportunities and threats in the marketplace with: (A)those of the CFO
(B)its resources and capabilities (C)branding opportunities  (D)capabilities of current suppliers

Total manufacturing costs equal: (A)direct materials + prime costs (B)direct materials + conversion costs (C)direct
manufacturing labor costs + prime costs  (D)direct manufacturing labor costs + conversion costs

When a job is complete: (A)Work-in-Process Control is debited (B)Finished Goods Control is credited (O)the cost of
the job is transferred to Manufacturing Overhead Control  (D)actual direct materials, actual direct manufacturing labor,
and allocated manufacturing overhead will comprise the total cost of the job

Participation of line managers in the budgeting process helps to create: (A)greater commitment (B)greater anxiety
(C)more fraud (D)better past performance

Rolling budgets help management to: (A)better review the past calendar year  (B)deal with a 5-year time frame  (C)
focus on the upcoming budget period (D)rigidly administer the budget

A favorable efficiency variance for direct materials might indicate: (A)that lower-quality materials were purchased
(B)an overskilled workforce  (C)poor design of products or processes  (D)a lower-priced supplier was used

For variable manufacturing overhead, there is no: (A)spending variance (B)efficiency variance (C)flexible-budget
variance  (D)production-volume variance

When using the high-low method, the two observations used are the high and low observations of the: (A)cost driver
(B)dependent variables  (C)slope coefficient (D)residual term

A relevant cost is a cost that is a (n): (A)future cost (B)past cost (C)sunk cost (D)non-cash expense

. If there was limited capacity, all of the following amounts would change except: (A)opportunity costs  (B)differential

costs  (C)variable costs  (D)the minimum acceptable price

All of the following are associated with target costing except: (A)value engineering  (B)the markup component
(C)all value-chain business functions  (D)cross-functional teams

Identify the best description of the balanced scorecard's financial perspective. To achieve our firm's vision and strategy:
(AyYhow can we obtain greater profits for the current year?  (B)how can we increase shareholder value?  (Chhow
will we obtain continuous improvements?  (D)how can we secure greater customer satisfaction?

Discretionary costs: (A)result from a cause-and-effect relationship between the output and the input  (B)include
advertising and executive training costs  (C)can be variable or fixed in the short run  (D)pertain to processes that
are detailed

ABC systems use the concept of a to identify the cost drivers that best demonstrate the cause-and-effect
relationship between each activity and the costs in the related cost pool. (A)cost hierarchy (B)cost pool  (C)cost
allocation (D)cost driver

When a product is the result of a joint process, the decision to process the product past the splitoff point further should
be influenced by the: (A)total amount of the joint costs  (B)portion of the joint costs allocated to the individual
products (C)extra revenue earned past the splitoff point  (D)extra operating income earned past the splitoff point

On occasion, the FIFO and the weighted-average methods of process costing will result in the same dollar amount of
costs being transferred to the next department, Which of the following scenarios would have that result? (A)when the
beginning and ending inventories are equal in terms of unit numbers  (B)when the beginning and ending inventories
are equal in terms of the percentage of completion for both direct materials, and conversion costs  (C)when there is no
ending inventory  (D)when there is no beginning inventory

Costs of normal spoilage are usually accounted for as: (A)part of the cost of goods sold  (B)part of the cost of goods
manufactured  (C)a separate line item in the income statement ~ (D)an asset in the balance sheet

Costs incurred in precluding the production of products that do not conform to specifications are: (A)prevention costs
(B)appraisal costs  (C)internal failure costs  (D)external failure costs

The amount of time from when an order is ready to start on the production line to when it becomes a finished good is
referred to as: (A)manufacturing lead time  (B)bottleneck (C)customer-response time (D)a time driver
Throughput contribution equals revenues minus; (A)direct material and direct labor costs  (B)direct material costs and
minus operating costs (C)direct material costs of goods sold (D)operating costs

The method of profitability analysis recognizes the two basic ingredients in profit-making: increasing income
per dollar of revenues and using assets to generate more revenues. (A)Balanced Scorecard  (B)Residual Income
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(C)Dupont  (D)Economic Value Added
22. A part of a control system that describes standards of behavior and codes of conduct expected of all employees,

especially actions that are off-limits, is known as a(n): (A)diagnostic control system (B)boundary system (C)belief
system (D)interactive control system
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